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@Zc*]:
Óx�VÐÎZßV»�Z[ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

�bÑiòìX
ÑiòìXCÙÎZwÆ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[ 10~ zZzw .1

 (10 x 1 = 10 Marks) ��ìX  1a
/V6,� (200) ~WJÎZÑ]�XZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ z�zx .2

 (5 x 6 = 30 Marks) �Z]��X 6 CÙÎZwÆa ìX
/V6,� (500) ~0*õÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã0*õÎ zÎx .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa ìX

zZzw
1 : ÎZw�

�A$ Z¤/ (i)

Zy~ÐÃð7 (d) (c) (b) (a)

Randomly ±YVÃ (2) �XZ¤/�z (Blue) ÅM@� (3) ±HV�X~Ð& (10) ~�k (Class) Zq-)®) (ii)

�Ï��zâVÅM@��'''' Probability �ä6,H Select

Zy~ÐÃð7 (d) (c) (b) (a)

''''ìX Moment Generating Function Æa Continuous Function (iii)

Zy~ÐÃð7 (d) (c) (b) (a)

A$P(x=3)=0.18 Zzg P(x=2) = 0.27 ìZk§b� Poission Variate Zq- X Z¤/     (iv)

4 (d) 3 (c) 2 (b) 1 (a)

.... = n �A$ ~ Binomial Distribution Z¤/ (v)

Zy~ÐÃð7 (d) 20 (c) 15 (b) 10 (a)

Æ!*g}~ÉÀ�/õGX One Tailed Test (vi)
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�ÇX .....  mean Mc*A$Zk» Head %û 183 %ûZYÑ�HZzg 960 Ã (Coin) Zq-ö (vii)

Zy~ÐÃð7 (d) 0.5 (c) 184 (b) 480 (a)

ëZEw�D�Z¤/''''' t-distribution (viii)

n Large, S.D.  is unknown (b) Sample Size(n) Small, S.D. is unknown (a)

Zy~ÐÃð7 (d) n Large, S.D. is known (c)

~'''''' Normal Distribution (ix)

mean < median < mode (b) mean = median = mode (a)

Zy~ÐÃð7 (d) mean > median > mode (c)

'''''�ÇX p.d.f~Continuous Random Variable (x)

(b) (a)

Zy~ÐÃð7 (d) (c)

z�zx

ÃÒyZzgU*"$�zX Bayes Theorem (2)

2%, 3%, 6% ¯D�T~Ð Bolt 50% C Zzg 30% Bó 20% A Machines 1~Æ Bolt Zq- (3)

�Ï�z{ Probability �XH Defective ä3�Zzg¥x�Z�z{ Randomly Bolt �XZq- Defective Bolt

¯C�X C,B,A Machines

�c*�HìX Probability Density Function (p.d.f) » Continuous Random Variable Zq- (4)

Variance (iii)    Mean (ii)  K (i) 2¥x�z
¥x�zX Probability �X S.D = 5 Zzg Mean = 30 �T» Normal Variate Zq- X Z¤/ (5)

(ii) (i)

Æ!*g}~ÉÀ�/õGX Critical Region Zzg Type I, Type II Error (6)

�c*7X Australian men taller than Englishman Ð¥x�z� Data ��� (7)

Mean S.D Size of Sample

Englishmen 67.85 inches 2.56 inches 6400

Australians 68.55 inches 2.52 inches 1600

(Table Value of Normal distribution )
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4000 hrsÅ Average life time electric bulb ~�~�ìXZ¤/ DatanLife Time Å 10 Electric Bulbs (8)

�Mh�X Accept Ã Hypothesis ìA$Hë

Items 1 2 3 4 5 6 7 8 9 10

Life of 1000hrs 1.2 4.6 3.9 4.1 5.2 3.8 3.9 4.3 4.4 5.6

(Table valueò

�c*�HìX Data » Random Sample �z (9)

Sample Size Sample Mean Sum of Squares of

Deviations from the Mean

1 10 15 90

2 12 14 108

Sample came from the same normal population �}�H Test

(Table value F0.05 (9,11)=2.90)

zÎx
U*"$�z�: (10)

(i)

(ii)

¥x�zX Moment about Mean Æa Even order Zzg Odd Order~ Normal Distribution (11)

¥x�zX Variance Zzg Mean » Binomial Distribution (12)

Large Population ì� S.D = 2.51cm Zzg Mean = 3.4cm �T» 900 Members TÆ Sample Zq- (13)

¥x Mean ìZzgZk» Population Normal ~Ð1�H�XZ¤/ S.D = 2.61cm Zzg Mean = 3.25 cm T»
¥x�zX Concidence Limits of the True Mean Æa 98% Zzg 95% A$(Unknown) 7�

(Table value of normal distribution z95% = 1.96, z98% = 2.33)

ÐÎZw7Y�HåXYiÆ Government Agencies (3) ~& Data �c*�H (14)

Null hypothesis that the actual proportion of employees favouring the pension plan are same.

Agency 1 Agency 2 Agency 3

For the Pension Plan 67 84 109

Against the Pension Plan 33 66 41

(Table Value

///
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